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P3-2 (plot by DAT)
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P3-2 TsN1 (plot by DAT)
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P3-2 TsN2 (plot by DAT)
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P3-2 TsN3 (plot by DAT)
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P3-2 TsN4 (plot by DAT)
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P3-2 TsN5 (plot by DAT)
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P3-2 TsN6 (plot by DAT)
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P3-2 (plot by adjDAT)
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P3-2 TsN2 (plot by adjDAT)
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P3-2 TsN3 (plot by adjDAT)
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P3-2 TsN4 (plot by adjDAT)
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P3-2 TsN5 (plot by adjDAT)
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P3-2 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]

1.0 v‘\/\_

0.8 ~

0.6 ~

0.4 A
— sflemp
—  sflnit

0.2 A —  sfDev
—  sfDem

0.0 ~

75 100 125 150 175




Plot ['sfDemLfA']
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Plot ['sfDemFrV']

1.04 -

1.02

1.00 -

0.98 A

0.96 A

—  sfDemFrV

25

50

75

100

125

150

175




39
39.00
39.01
39.02
39.03
39.04
39.05
39.06
39.07
39.08
39.09
39.10
39.11
39.12
39.13
39.14
39.15
39.16
39.17 -
39.18 -
39.19
39.20
39.21 -
39.22 -
39.23 -

- 20

--20




Plot EnvOpt Decision

50 A
—-— T — optT1
25 4 —— Tdew 45 —— optT2
— To 40 4
20 A 35 4
30 A
15 A
25 A
10 - 20 -
15 A
0 5 10 15 20 0 5 10 15 20
hr hr
—_— T —— OoptRH1
25 —0— LT | 604+ —— optRH2
20 . 40 T
15 - 20 A
10 - 07
-20 A
5 -
0 5 10 15 20 0 5 10 15 20
hr hr
— |
1500 A J
—— PPFD 75 \ﬁ_—\—\/\
1250 A 50 A
1000 A 25 4
750 0 -
500 25
2501 -50 1 —— warRH1
04 75 4 —— warRH2
0 5 10 15 20 0 5 10 15 20
hr hr
251 —— optVPD
—0— leafVPD 25 4
2.0 4+ —— airVvPD
1.5 - 204 —— PATG_T1
—— PATG_T2
1.0 A —— T
15 A
0.5 4
0.0 1 10 1 w
0 5 10 15 20 0 5 10 15 20
hr hr
90 4 30
80 A
25 A
70 A
— PATS T1
201 pats 12
60 - =
- T
50 151
—e— RH
40 A
—— RHo 10 1
0 5 10 15 20 0 5 10 15 20
hr hr
—o— AH
91 —— AHo
8 -
7 -
6 -
5 -
4 -

o
ol

10 15 20
hr

0 5 10 15 20
hr

1000
900 -
8001 —— PATG C1
700 - —— PATG_C2
-0— C
600 -
500 -
400 -
6 8 10 12 14 16
hr
PATS C1
800 1 PATS C2
700 -
600
500 -
400 -
6 8 10 12 14 16
hr
1100 - —— PAVT C1
——  PAVT C2
1000 —e— C
900 - \\\\
800 - \/\
700 -
600
500 -
6 8 10 12 14 16
hr
1500 - //\
L g \
1250 -
1000
750 -
2001 —— PATG_P1
—e— P
6 8 10 12 14 16
hr
1500 - I /}\
1250 -
1000
750 -
2001 —— PATS_P1
—o— P
6 8 10 12 14 16
hr
1500 - //\
y 4 \
1250 -
1000 -
750 -
2001 —— PAVT P1
—e— P

o 4
(o]

10 12 14 16
hr




- 20

- T

1
O N < © © ©o 24680
— m MM mMm mMm <



